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~

vetor <- c¢(1, 2, 34, 12, 2)

@ python: vetor = [1, 2, 34, 12, 2]

N <- Tlength(vetor) # numero de elementos
i <= 1 # conta@or/ﬁndexador

soma <- 0 A

while (i <= N) { Y\ "
/@ soma = soma + ve1‘:'9r [,l] '%
[ \ i <- 1+ 1 # incremento
5
1
13 o

cat("A soma do vetor é", soma)

A ..
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29 # for - v1

30 vetor <- c¢(1, 2, 34, 12, 2)

31 N <- length(vetor)

32 #1:N=12 3. - sequenci S

33 soma <- 0

34, for (i 1n‘€f;; { # for (i in 1l:length(vetor))
3 ( soma <- soma + vetor[i]

36~ }

37%@at("A soma do vetor é", soma)

38
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ib # for - v2
41 vetor <- c(1, 2, 34, 12, 2)
42 soma <- 0

439 for (elemento,in vetor) {
44: soma <- soma + elemento
45

46 cat( A soma do vetor é", soma)
47

N O+X~
dpdo= L

Ager” N FEED



